
C Ward A Level Mathematics Bridging Unit

Name: Due in: September

Section A: Surds

C1 Simplify:

Your answer to question 2:            

A

2 Simplify: A

D

Your answer to question 1:            

C

B

B D

C3 Simplify: A

4 Simplify: A B D

Your answer to question 4:            

D

Your answer to question 3:            

C

B

C5 Simplify: A

6 Simplify: A B D

Your answer to question 6:            

D

Your answer to question 5:            

C

B

C7 Simplify: A

8 Simplify: A B D

Your answer to question 8:            

D

Your answer to question 7:            

C

B

C9 Simplify: A

10 Simplify: A B D

Your answer to question 10:            

D

Your answer to question 9:            

C

B

33 +
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25

18045 +
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850 −
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C D

Your answer to question 3:            

3 a
7
 x  a

3 A B

C D

Your answer to question 2:            

C D

Your answer to question 1:            

2 y
8
 ÷  y

4 A B

1 y
3
 x  y

2 A B

Section B: Power Laws

Simplify the following by applying the laws of indices

C11 Simplify: A

12 Simplify: A B D

Your answer to question 12:            

D

Your answer to question 11:            

C

B

C13 Simplify: A

14 Simplify: A B D

Your answer to question 14:            

D

Your answer to question 13:            

C

B

B C15 Simplify: A

Your answer to question 16:            

D

Your answer to question 15:            

16 Simplify: A B

17 Simplify: A

DC

D

Your answer to question 17:            

B C
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D

Your answer to question 13:            

B C

B C

14 A

Your answer to question 14:            

D

13 A

C12 B D

Your answer to question 12:            

C D

Your answer to question 11:            

A

11 (2x)
2 A B

C D

Your answer to question 10:            

C D

Your answer to question 9:            

10 12g
2
 ÷ 4 g

5 A B

9 6r
5
 ÷ 3 r A B

C D

Your answer to question 8:            

C D

Your answer to question 7:            

8 3b
3
 x  2b

5 A B

7 b
-2

 x  b
-4 A B

C D

Your answer to question 6:            

C D

Your answer to question 5:            

6 k
5
 ÷  k

-4 A B

5 b
3
 x  b

-4 A B

C D

Your answer to question 4:            

4 r
10

 ÷  r
2 A B

2

2

b

abba 

22

3

8

62
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x(x - 1) - 2(x + 5) = 0 Your answer to question 9:            

B 2 C 59
Look at the quadratic equation below. One of the 

roots  is -2. What is the other?
A -5 D 1

4x
2
 - 9x  = -3 - x Your answer to question 8:            

B -0.5 C 38
Look at the quadratic equation below. One of the 

roots  is 0.5. What is the other?
A 1.5 D -3

x(x + 5) = 6 Your answer to question 7:            

B 1 C 67
Look at the quadratic equation below. One of the 

roots  is -6. What is the other?
A 5 D -5

3x
2
 + 5x  - 12 = 0 Your answer to question 6:            

B -6 C -36
Look at the quadratic equation below. One of the 

roots  is -3. What is the other?
A D 4

2x
2
 - 7x  - 4 = 0 Your answer to question 5:            

B 8 C -85
Look at the quadratic equation below. One of the 

roots  is -0.5. What is the other?
A -2 D 4

2x
2
 - x  - 6 = 0 Your answer to question 4:            

B 2 C -34
Look at the quadratic equation below. One of the 

roots  is -1.5. What is the other?
A 3 D -6

x
2
 + 36 = 13x Your answer to question 3:            

B -4 C 123
Look at the quadratic equation below. One of the 

roots  is 4. What is the other?
A 9 D 1

x
2
 + 5x  - 24 = 0 Your answer to question 2:            

B 6 C -32
Look at the quadratic equation below. One of the 

roots  is 3. What is the other?
A -4 D -8

x
2
 - x  - 12 = 0 Your answer to question 1:            

B -3 C 21
Look at the quadratic equation below. One of the 

roots  is 4. What is the other?
A 3 D 6

Section C: Factorisation of a quadratic equation

B C15 A D

Your answer to question 15:            

cd

dcd

6

4 32 

3

2 4d 52cd
c

d

3

2 3
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D 8

Your answer to question 2:            

3

Your answer to question 1:            

2 A -1 B 6 C 10

Section D: Equations involving fractions

1 A 5 B 10 C -1 D

x
2
 + 3x  - 10 = 0 Your answer to question 17:            

B 8 C 217
Look at the quadratic equation below. One of the 

roots  is 5. What is the other?
A -2 D -5

x
2
 + 3x  - 18 = 0 Your answer to question 16:            

B 9 C -216
Look at the quadratic equation below. One of the 

roots  is 6. What is the other?
A -3 D 3

x
2
 + 7x  + 10 = 0 Your answer to question 15:            

B 15 C 515
Look at the quadratic equation below. One of the 

roots  is -5. What is the other?
A -2 D 2

x
2
 + 8x  + 15 = 0 Your answer to question 14:            

B 5 C -514
Look at the quadratic equation below. One of the 

roots  is -3. What is the other?
A 11 D 3

x
2
 + 12x  + 27 = 0 Your answer to question 13:            

B 1 C -2713
Look at the quadratic equation below. One of the 

roots  is -3. What is the other?
A 3 D -9

x
2
 + 10x  + 16 = 0 Your answer to question 12:            

B -1 C 212
Look at the quadratic equation below. One of the 

roots  is -2. What is the other?
A -8 D 12

x
2
 + 6x  + 8 = 0 Your answer to question 11:            

B -4 C 211
Look at the quadratic equation below. One of the 

roots  is -2. What is the other?
A 4 D 6

2x
2
 - x  - 6 = 0 Your answer to question 10:            

B -3 C 310
Look at the quadratic equation below. One of the 

roots  is 2. What is the other?
A -1.5 D -2

4
3

2
=

+x

1
5

3
=

−x
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C D 6

Your answer to question 12:            

12 A 3 B 7

0.2 C 5 D 3

Your answer to question 11:            

C 5 D 0

Your answer to question 10:            

11 A 1 B

10 A 7 B 3

4 C 7 D 1

Your answer to question 9:            

C 5 D 2

Your answer to question 8:            

9 A 11 B

8 A 16 B 8

3 C 5 D 8

Your answer to question 7:            

C 3 D 11

Your answer to question 6:            

7 A 1 B

6 A 5 B 7

2 C 4 D 3

Your answer to question 5:            

C 5 D 3

Your answer to question 4:            

5 A 6 B

8 D 1

Your answer to question 3:            

4 A -4 B 10

3 A 10 B 0 Cx
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=
+
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C D

Your answer to question 7:            

C D

Your answer to question 6:            

7 A B

6 A B

C D

Your answer to question 5:            

C D

Your answer to question 4:            

5 A B

D

Your answer to question 3:            

4 A B

D

Your answer to question 2:            

3 A B C

Your answer to question 1:            

2 A B C

Make x the subject of the following formulae:

1 A B C D

1 C 4 D 2

Section E: Rearrangement of formulae

C 11 D 3

Your answer to question 14:            

15 A -3 B

14 A 7 B 10

5 C 3 D 0

Your answer to question 13:            

13 A 2 B
6
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2
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=

+
+
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D

Your answer to question 16:            

B C

B C

17 A

Your answer to question 17:            

D

16 A

C15 B D

Your answer to question 15:            

C D

Your answer to question 14:            

A

14 A B

C D

Your answer to question 13:            

C D

Your answer to question 12:            

13 A B

12 A B

C D

Your answer to question 11:            

C D

Your answer to question 10:            

11 A B

10 A B

C D

Your answer to question 9:            

C D

Your answer to question 8:            

9 A B

8 A BAbxV
3
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=
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x + y = 8 and x - y = 2 Your answer to question 9:            

B 4 and 4 C9
Look at the equations below. The solutions to x and y 

in that order are:
A 5 and 3 D 7 and -10 and 8

x - 7y = 5 and x - 5y = 9 Your answer to question 8:            

B 19 and -14 C8
Look at the equations below. The solutions to x and y 

in that order are:
A 12 and 1 D 19 and 2 -2 and -1

2x + y = 7 and x + y = 5 Your answer to question 7:            

B 2 and 5 C7
Look at the equations below. The solutions to x and y 

in that order are:
A 3 and 1 D 2 and 36 and -5

3x - y = 8 and 3x - 2y = 7 Your answer to question 6:            

B 5 and 7 C6
Look at the equations below. The solutions to x and y 

in that order are:
A 3 and 1 D 3 and -12 and -2

2x + y = 12 and x + y = 7 Your answer to question 5:            

B 5 and 2 C5
Look at the equations below. The solutions to x and y 

in that order are:
A 1 and 10 D 3 and 66 and 0

5x + y = 10 and 3x - y = 2 Your answer to question 4:            

B 1.5 and 2.5 C4
Look at the equations below. The solutions to x and y 

in that order are:
A 2 and 0 D 3 and 26 and -20

2x + 3y = 17 and 4x - 3y = 7 Your answer to question 3:            

B 4 and 13 C3
Look at the equations below. The solutions to x and y 

in that order are:
A 4 and 3 D 1 and 57 and 1

2x + y = 12 and 4x - y = 6 Your answer to question 2:            

B 3 and 9 C2
Look at the equations below. The solutions to x and y 

in that order are:
A  -3 and 18 D 3 and 62 and 8

x + y = 5 and x - y =3 Your answer to question 1:            

B 4 and 1 C1
Look at the equations below. The solutions to x and y 

in that order are:
A 4 and -1 D 7 and -23 and 2

Section F: Simultaneous equations

B C18 A D

Your answer to question 18:            

r

mx
P

2

=
m

rP

mr

P

r
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Your answer to question 4:            

B 2 C 34
What is the gradient of the line with equation given 

below:
A D -3

y = 3x - 1 Your answer to question 3:            

B 1 C 3

-5 D

y = 5x + 2 Your answer to question 2:            

3
What is the gradient of the line with equation given 

below:
A -1 D

y = 3x + 2 Your answer to question 1:            

2
What is the gradient of the line with equation given 

below:
A 2 B 5 C

Section G: The equation of the line y = mx + c

1
What is the gradient of the line with equation given 

below:
A 3 B 2 C -3 D

3x + y = 7 and x + y = 5 Your answer to question 15:            

B 1 and 4 C15
Look at the equations below. The solutions to x and y 

in that order are:
A 2 and 1 D 4 and -33 and -2

x + 4y = 3 and 2x - 8y = -2 Your answer to question 14:            

B 2 and 0.25 C14
Look at the equations below. The solutions to x and y 

in that order are:
A 1 and 0.5 D 6 and -17 and -1

5x + 2y = 19 and 7x - y = 19 Your answer to question 13:            

B 3 and 2 C13
Look at the equations below. The solutions to x and y 

in that order are:
A 5 and -3 D 6 and 14 and -0.5

x + y = 4 and 3y - x = 16 Your answer to question 12:            

B 3 and 1 C12
Look at the equations below. The solutions to x and y 

in that order are:
A  -1 and 5 D  -3 and 26 and -2

x + 2y = 7 and 3x - 4y = 21 Your answer to question 11:            

B 7 and 10 C11
Look at the equations below. The solutions to x and y 

in that order are:
A 1 and 3 D 7 and 04 and 1.5

3x - y = 11 and 3x - 2y = 13 Your answer to question 10:            

B 3 and -2 C10
Look at the equations below. The solutions to x and y 

in that order are:
A 7 and 10 D 5 and 46 and 1

3
2
+=

x
y

2

1

1

5

1

3

1

3

3

1
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C -2 D -3

Your answer to question 15:            

15 What is the y axis intercept of the line in question 1? A 2 B 3

Your answer to question 14:            

B C14
What is the gradient of the line with equation given 

below:
A D

Your answer to question 13:            

B C13
What is the gradient of the line with equation given 

below:
A D 3

3x + y = 4 Your answer to question 12:            

B 4 C -312
What is the gradient of the line with equation given 

below:
A 3 D

2y + 8x + 5 = 0 Your answer to question 11:            

B 4 C -811
What is the gradient of the line with equation given 

below:
A -4 D

y - 3x + 1 = 0 Your answer to question 10:            

B 3 C 110
What is the gradient of the line with equation given 

below:
A -3 D -1

y - 2x = 4 Your answer to question 9:            

B 4 C -29
What is the gradient of the line with equation given 

below:
A 2 D -4

2y = 4x + 3 Your answer to question 8:            

B -4 C 28
What is the gradient of the line with equation given 

below:
A 4 D 3

y = 5x + 2 Your answer to question 7:            

B 5 C 27
What is the gradient of the line with equation given 

below:
A -5 D

y = 7 - 3x Your answer to question 6:            

B 7 C 36
What is the gradient of the line with equation given 

below:
A -3 D

Your answer to question 5:            

B C -85
What is the gradient of the line with equation given 

below:
A 8 D

8
3
+−=

x
y

1
23
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yx

1
3

2

4
=−

yx

3
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−
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8

3

3
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−

2
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−

3
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3

1

3

1
−

4

1

4

1
−

2

3
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1 3 4 7

1 8 7 0

4 0 # 0

1 5 # 1

# # 2 8

1 2 5 3

(-3, -4) and (2, 8) Your answer to question 5:            

B 1 C √175
Find the distance between the two points 

given below:
A √5 D 13

(1, 5) and (-2, 1) Your answer to question 4:            

B √37 C 54
Find the distance between the two points 

given below:
A √5 D 2

√7

(4, 0) and (-3, 0) Your answer to question 3:            

B 1 C 2

10 D 4

(1, 8) and (7, 0) Your answer to question 2:            

3
Find the distance between the two points 

given below:
A 7 D

√15

(1, 3) and (4, 7) Your answer to question 1:            

2
Find the distance between the two points 

given below:
A 5 B √128 C

Section H: Distance between two points

1
Find the distance between the two points 

given below:
A √7 B 5 C √125 D

C D -4

Your answer to question 20:            

C -1 D 1

Your answer to question 19:            

20
What is the x  axis intercept of the line in question 

12?
A B

19
What is the y axis intercept of the line in question 

10?
A B 3

C -5 D

Your answer to question 18:            

C -1 D -3

Your answer to question 17:            

18
What is the x  axis intercept of the line in question 

7?
A -2 B

17
What is the x  axis intercept of the line in question 

3?
A B

-8 C -3 D

Your answer to question 16:            

16 What is the y axis intercept of the line in question 5? A 8 B
3

1
−

3

1

3

1
−

5

2
−

2

5
−

3

1

3

4

3

4
−

4

3
−
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1 1 2 #

3 3 5 7

3 3 5 #

# 0 2 3

(-1, 0) and (2, 3) Your answer to question 10:            

B √10 C √510
Find the distance between the two points 

given below:
A 3√2 D 2

(3, 3) and (5, -1) Your answer to question 9:            

B √13 C 2√59
Find the distance between the two points 

given below:
A √10 D √68

(3, 3) and (5, 7) Your answer to question 8:            

B 2√5 C √188
Find the distance between the two points 

given below:
A √181 D 18

(1, 1) and (2, -1) Your answer to question 7:            

B 3 C √37
Find the distance between the two points 

given below:
A √5 D 2

(1, 2) and (5, 3) Your answer to question 6:            

B √11 C 116
Find the distance between the two points 

given below:
A √61 D √17


